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Layer (type) output Shape Param # %\ /F)i ;Qﬁ ] 7 g F" Ti
conv2d_1 (Conv2D) (None, 148, 148, 128) 3584
ling2d 1 (MaxPooling2 (N , 74, 74, 128 7] . 2
mex_poolingzd 1 (Maxpooling2 (tione ) history = model.fit generator(
conv2d_2 (Conv2D) (None, 72, 72, 512) 550336 train gener‘atc}r"J
max_pooling2d 2 (MaxPooling2 (None, 36, 36, 512) 2]
steps per epoch=100,
dropout_1 (Dropout) (None, 36, 36, 512) ] - -
conv2d_3 (ConvaD) (None, 34, 34, 512) 2359808 epochs:l@@
max_pooling2d_3 (MaxPocling2 (None, 17, 17, 512) 2]
flatten 1 (Flatten) (None, 147968) [ verbose=1,
dense 1 (Dense) (None, 256) 37880064 validation_data=validation_generator,
dropout_2 (Dropout) (None, 256) [4]
dense_2 (Dense) (None, 1) 2570 ) Valldatlon—StepS=58’
Total params: 40,836,362
Trainable params: 40,836,362
Non-trainable params: @
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